
https://www.leads4pass.com/1z0-419.html
2024 Latest leads4pass 1Z0-419 PDF and VCE dumps Download

 

 

 

1Z0-419Q&As

Implementation Application Development Framework

Pass Oracle 1Z0-419 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/1z0-419.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

Latest 1Z0-419 Dumps | 1Z0-419 VCE Dumps | 1Z0-419 Braindumps                                1 / 3

https://www.leads4pass.com/1z0-419.html
https://www.leads4pass.com/1z0-419.html
https://www.leads4pass.com/1z0-419.html


https://www.leads4pass.com/1z0-419.html
2024 Latest leads4pass 1Z0-419 PDF and VCE dumps Download

QUESTION 1

Consider a case where a view does not load with the expected data. Where would you set a breakpoint to debug the
issue? (Choose the best answer.) 

A. the executable binding for the iterator on the pagedef for the view 

B. a router activity that is used to determine where to send the user after selecting a row in the view 

C. the partialTriggers property of the data bound component in the view 

D. the value binding for the iterator on the pagedef for the view 

Correct Answer: D 

 

QUESTION 2

What should be in a managed bean, rather than a backing bean? (Choose the best answer.) 

A. code that manipulates the color of a text field on a JSF page 

B. data that is used to decide if a field is shown as mandatory or not 

C. data that is used on another page in the task flow 

D. code that opens a pop-up in the page 

Correct Answer: C 

 

QUESTION 3

How are ADF components shared among applications? (Choose the best answer.) 

A. by using a source control system to share components 

B. by selecting the Shared Library check box when adding libraries and JARs to a project 

C. by creating shared application modules and ensuring all developers use them 

D. by defining a custom JAR file and sharing it in a source control system 

E. by creating an ADF Library of components and deploying it to a shared location 

Correct Answer: E 

 

QUESTION 4

Which statement is false? (Choose the best answer) 
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A. A panelDashboard has the same rowHeight (or all the rows 

B. AFStretchWidth in the style class of a panelGroupLayout causes it to fi II the page horizontally 

C. panelGroupLayout cannot have a vertical scroll bar 

D. panelBox stretches if placed inside a panelStretchLayout center facet 

Correct Answer: C 

 

QUESTION 5

You are prototyping an ADF application that uses ADF Business Components. However, the database schema that you
can connect to does not contain any tabl Which two declarative options are available to you to provide hard-coded data
for the purposes of your prototype? (Choose two.) 

A. entity objects with default values 

B. placeholder data control 

C. stati c li st vi ew objects 

D. declarative managed beans 

Correct Answer: BC 
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